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Today's presentation

Definition & Consequences (Charlotte)
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Plants stay put




Consequences of staying put

How would you reproduce if couldn’t move?
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Consequences of staying put

How would you defend yourself?

-
<
L
=
>
=
O
&
L
s
—
L
)
o
<
<I
o
i
2,
-




Consequences of staying put

How would you defend yourself?

-
<
L
=
>
=
O
&
L
s
—
L
)
o
<
<I
o
i
2,
-




Consequences of staying put

How would you defend yourself?

-
<
L
=
>
=
O
&
L
s
—
L
)
o
<
<I
o
i
2,
-




Consequences of staying put
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Consequences of indeterminate growth

What if people had meristems?
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Consequences of autotrophy

What if sunli
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Consequences of autotrophy

Plants are The Producers

Tertiary
Cansumers
1 kcal

Secondary

Consumers
10 kcal

Primary %\ &
Consumer S
100 kcal

Producers
1,000 kcal
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